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v 5- <
l _mber of triangles and aLr?dor carefully for the pattern
hen choose which pair o.f

n
1ihe figure. | |
1. fﬁﬂres n the 119 ”Umberssgomes next.
S@s ! 10" 14, 18, 2_2- 2_6. 30

/f a) 34,38.

b) 34 36
c) 40,44
d) 26,30

g squarés 6. Look carefully at the sequence of
symbols to find the pattern.

ernative which is . Select correct pattern.

o alt el
~ 2. Choot™ a:ﬂeé the mirror IMage oY | L@@O \ ®® -
closely®E" - bination. - e
of the @‘ei}ﬂcjiAﬂ . . @ Gj O
] Tﬁﬁﬂw‘mm 1) AtODHIAR M » @ O
(1) AWTAYE
4) AMTOHUATARA a) 1
{3) ANTARAIM 14 A8 o) 2
a) 1 .,g) 3
b) 2 ) 4
e 3 7\
M . Which word does NOT belong
with the others?
3. Find out thealternative figure a) inch
which contans figure (X) as its b) ounce
part. c) centimetre
S : : d) yard
| @ % Choose the pair that best
' represents a similar relationship to
(X) oo @ W the one expressed in the original
a) 1 pair of words.

8. BINDING : BOOK

b) 2 O<
c)~3 ,.
dM/ e a) criminal : gangd

4 Look at this series: 7 10 § 4 b) display um
10,8, 11, ) display : muse
: 9,12, ... What number shoyq ' c) artist : carpenter
come next? y Frame: Picture

a) 7

b) 10~

¢) 12 V
d) 13 -




i : angle
Each of these questions is based on In the following diagram rect

: : . epresents
the following information: represents men, Triangle :s F:eran
educated, Circle represen ¢
A + B means A is the mother of B. and square represents governmen
A - B means A is the sister of B. employees.
A * B means A is the father of B. &
' ' 7
A B B means A is the brother of B. 10
| 12 | 6 /13
9 4
9. Which of the following m¢ans Q is & 14
the grandfather of P? //
S
s a8 AP+NTMIQ A
AN B)QINTMHP _ |
i Sl _)QPMBN*P 14. Which one of the following
e 1 d) None of these represents the educated men but
rfot urban ?
10. Which of the following means that N a)9
is the maternal uncle of M? b) 5 DQ
c)4
a)NBP-L+E-M d))11
BYN-Y+ARM
c)M-Y*P-N
dNBC+F*M /15.Which one of the following
represents a woman who is urban
11.Pointing to a photograph of a boy as well as government employee ?
Suresh said, "He is the son of the /%)/7/
only son of my mother." How is )13
- Suresh related to that boy? &) 10 .
PP o W N . ’ . {
ﬁ’ﬁ - a) Brother d) 6
; b) Uncle
3)) ggtuhs;rr\ e Directions for the following three

items ( Q.16 to Q.17):
Read the given information and

= l/‘_f2’.120, 99, 80, 63, 48, 7 answer the questions that follow,
e 235 Segma. Cheenu, Lg_\i}g_, Teena, and
4 19 Somi help themselves to take some
i sweets. Four of them take a rasqulia
ke dhab Cheenu and Teena do not take a byrfy «
butall the othefs do take the burfy
Sl Sk gt Cheenu takes only one sweet, which is
v 125,80,45.20.3 a kalakand. Kalakand is not taken by
%, s : ?;r‘lzrs a%a_rt from Cheénu. Everyone
4 takes peda ex e 4

d) 12



= AT
.;?;v oy svyg_gts were taken by

3) 12
< ) 11
10

Ne .
ﬁndach of the following questions
Out the giternative which will

re
Placg ¢ question mark.

_187Saf -
o Safe : geire i Protect : 7

a) Lock
b) Sure
) Guar

d) Corsefve
_d) Farce

/1('1‘;1 a certain code language, if
: ELEPHANT" is written as "

GJGNJYPR". "COMPUTER" IS

written as “EMONWRGP", then in

the same code language,

"KNOWLEDGE" will be written as:

1
A Tat : .
/F? yais n's cousin. Shweta is

Anu L
r]"/f Akash who is not

£n
/?*Af’gi/ﬂiaw o
sisiel ali 1s e mother of

/.’ n ™~
marrne= 'i')is the b?gthe@kash.
3 _Anjali 1s the

eel- 2 ’fsﬁncle

a e
¥22 1= n who is the son

— .

Rohit IS Priya> "
ggndmotherj?f Afun
weta'!

< appear while writin

d) MJUQNGAIL o

s the wif'e:c}'f Veer.

21.Shakuntala says, "if you reverse my
age. then the reversed number
repfesents my husband's age. He is
senjor to me and the differencé
:)heetvgﬁin (}ur ages is one-eleventh of
of our ages” !
of Shakuntala? itk sk
a) 23
b) 24
c) 45
d) 54
22:1f the seventh day of a month is three
days earlier than Monday, what day
will it be on the 20th day of the
month? i
/

a) Thursday
~b) Wednesd
c) Tuesday
d) Saturday

west. He turns 45° in

\

/Z&Vijay is facing
kwise direction and-then

the anti- cloc
another 180° int
and then 270° in
direction. Which
now?
a) North East iy
}North West DL—» N \E
outh East e i

outh West

24.The number of tim

he same direction

the clockwise
direction is he facing

\a

es the digit 5 will
g the integers from

1 to 1000 is:
a) 269
b) 271
c) 300
d) 302

.Choose the word which is different

frorn the rest.
/a} Lion
b) Tiger
c) cat -
d) Deer

f?/'g«J




26 A man sells an article for $540
and makes a profit of 20%.
What would be the selling price
if he wants to make a profit of
25%?7?

a) $550
b} $600

) $562
/g) $675

_27.A and B start a business
together. A invests $8000 and B
invests $12000. If they make a
profit of $10000 at the end of
the year, how much of the profit
will B receive’?

a)$4000
b) $5000
_c) $6000
d) $7000

28 The least common multiple of
135and 24 is

/a)JQ 5

b) 360
c) 240
d) 1080

29 The simplest form of the ratnonal
number 0.1961s .

a) 1/6
b) 3/6
_e) 13/66
d) 2/5

/39’A solid is in the form of a cone
mounted on a hemisphere. The
radius and hgight of the cone

. Find the

. e given solid.

a) 114.4 mf

—~31.The cost price of 20 articles is
the same as the selling Price
of x articles. If the pfOrt 18 259 h,
then the value of x IS

a)15
b)16
£)18
d) 25

_32.In a certain store, the profit is
. 320% of the cost. If the cost
increases by 25% but the
selling price remains constant
approximately what percentage
of the selling price is the profit?

a) 30%
_b) 70%

c) 100%

d) 250%

33-Afruit seller had some apples.
He selis 40% apples and still
has 420 apples. Orlglnany he

“e had
7  a)588 apples
b les
”f"j c) 672 apples
s d) 700 apples

34 What percentage of numbers
from 1 to 70 have 1 or 9 in the

unlt's d|g|

/J/Seats for Mathematics, Physics
and Biology in a school are in
theratic5:7:8. Thereis a
proposal to increase these
s€afs by 40%, 50% and 75%
respectlvely What will be the
ratio of mcreased Seats?

-ﬂﬂ_‘gué of these



he first 10 overs of a cricket

36" e the run rate was only 3.2
%a’t should be the run rate in

remaining 40 overs to reach

::g target of 282 runs?

2625 La: 3.5
b) 6;?5/ Y

C)B- S

d)7 . R

The fof!wmg <101 $0WS the percentage distribution of the expendity

Ntuneg jp pupiing ¢ DOOK. Study the bie-chart and the answer the ques
0830 on jy

Various £endlUres fin percentage) Incurred in Publisning a Book

Pronee COst_
e ] A Transportation

TR Cost

A10%

——37TF for a certain quantity of books,
the publisher has to pay Rs.
30,600 as printing cost, then

what will be amount of royalty to
be paid for these books?
e paid for t

a) Rs. 19,450
d) Rs. 21,200

_chHRs. 22,950
d) Rs. 26,150

Mat is the central angle of the

sector corresponding to the
expenditure incurred on
Royalty?

a) 15°

t:-'b’)”24°
¢)

) 48°

-+ 39.1f 5500 copies are published
and the transportation cost on
them amounts to Rs_ 82500,
then what should be the selling
price of the book so that the

publisher can earn a profit of
25%7

a) Rs. 187.50
b) Rs. 191,50
c) Ffs/fgg

d) Rs. 180

40.A-grocer has a sale of Rs. 6435
Rs. 6927, Rs. 6855, Rs. 7230
and Rs. 6562 for 5 consecutive
months. How much sale must
he have in the sixth month so

that he gets an average sale of
Rs. 65007

a) Rs. 4991

b) Rs. 599
s. 600

d) Rs. 6991

41.ln-a race of 930 metres, Rohan

- beats Sohan by 310 metres and
in a race of 600 metres, Sohan
beats Mohan by 24 metres.
By how many metres will Rohan
beat Mohan in 500 meters
race?

c) 180 metres
d) 140 metres

+2 Rajdhani Express travels from
New Dethi to Jalpaiguri and
makes 6 stops on the way. 4
persons enter the train during
the train’s journey with 4
different tickets. How many
different sets of tickets may they
have had? |

a) 6000
b) 5840
) 5676
d) 5985 T




~43.Suchitra can till a big garden in
10 days. Konkana can till the
same garden in 15 days. If the
owner of the garden is ready to
pay maximum of Rs 500 for
tilling his garden. Both Suchitra
and Konkana decide to till the
garden together. How much will

46. The average number of (‘;’s't‘?-’s
to a Museum every Monday is
96, whereas it is 156 O other
days of the month. What will be
the average number of VISitors
for the entire month if it as 30
days and begins on Monday?

Suchitra earn more than s; 122 )
Konkana, when tilling is : K
finished? c) 146 e

d) 147
a) Rs 300 .
b) Rs 100 47 Ayush had three books in which
_.¢)Rs 250 Book A had 120 pages. Book B
d) Rs 150

44.In the given series which letters
appears next?
VHZB, TKWB, RNTD, PQQD,

had 10% more pages than Book
¢r— A and Book C had 10% Jess
., bages than Book A. ff she tore
'2°" M roughly 5%. 10% and 15% of
/6 f: pages.in A, B and C

. - € respectively, then approximately
NTNF__ _ x wﬁ%—inr{cent of pages did she
< tear out?
a) MUMG a) 5%
BAT UK K ~b) 10%
e} LWKE c) 1%
d) OWKG d) 15%

45.A recipe requires 227 grams of
ghee and 397 grams of fiour.
While making the recipe 227
grams of ghee is added, now if
the chef accidentally pours in
595 grams of flour, how many
more grams of ghee should be

48.1n a bag, there are 12 pens
which are divided into 7 green
and 5 black pens. In how many
ways can we remove 8 pens so
that at least 1 green pen and 1
black pen remain in the bag?

a) 445
added? b) 455
a) 340 g c) 566
b) 113 g d) 63¢,
c) 104 gm 29.The > price of wheat increases by
d) 240 gm J 40 paise every year, “while the

price of rice increases by 15
paise every year Ifin 2013, the
1 price of wheat was Rs¢4 28 and

thatof rice was Rs. 630 in

v “, which year wheat will cost 40
(% paise more than the rice?

a)2020

b) 2021 ~ 2
c) 2022

1) 2023 1555

(4 52

R

-B - }7 5 2

7 k"



class of 138. where girls
—xpl fe’fwice that of boys, Lucky
7. ked thirty fifth from the top, if
%“are 10 girls ahead of
t eck . how many boys are after
Wes - ré:!j_k? R an

51.Howmany times a person can
be ekcted as a President of
g
a) Onelime only
b) Twotimes onl
C) Three times
d) Nobar.

=92 According to the preamble. of
the Ingian constitution, the
ultimate power lies in the

handsof — ~
a) Parliament
~b)- President

C) Constituent As§éembly
d) People

93. The word that does not appear
in the Indian Constitution is
a) Sovereign = .
b) Federal -~
c) Fraternity,~
d) Republic

54 Which of the following is
categorized as mijiet?

a) Rice /

b) Maize

¢} Sorghum
d) ‘Wheat

/,ssf@ich of the following authority
can provide for citizenship in
case of acquisition of territory?

-3 Central Government” ~

b) Parliament of India

) Supreme Court of India

d) All'the citizens of acquired
territory would automatically
become citizens of India.

6. Lactometers, which are used to
determine the purity of a sample
of milk & hydrometers used for

determining dengity of liquids,
e b ich one of the

are based
following pri
a) Archimedes’
rnoulli's Principle™
c}-Boyles's Law
d) Ohms law

57.in the context of Indian
economy, first loan default
guarantee (FLDG) model
recently seen in the news is
associated with:_
a) digital lendi
b) external co
"borrowings
_¢) _market borrowings by state
governments
d) priority sector lending

98.In the context of economics,
Kuznets curve shows the
relationship between which of
the two following variables?

a) Income inequality ang’per
capita income onomic
developme ‘ B

__b) Tax collected and economic

growth (per capita income)
c) inflation and unemployment
-d) Interest rate and private
investment
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59. With reference to the G-20

~~" Troika', consider the following

statements.

1. It is a sub-group within the G-20
comprising the three largest
economies among the G-20
countries.

2. India is currently part of the G-20
Troika countries.

thch of the statements/qgfv
above is/are not cogrest?

a) 1only
b) 2 only

<) Both 1 and 2
d) Neither 1 nor?2

/GO.With reference to Buddhism, which

of the following statements is not
correct?
a) There are three principal
elements in Buddhism:

Buddha, dhamma,/and sangha.
b) Buddhism rejectg’the”

prakrit language. -
~d}-1n'various Buddhist texts,

Buddha is also known as

Tathagata and Sakyamuni.

61.Which of the following statements is
not correct?

a) Dawn and twilight stay for

longer time in thd temperate
regions than the ropics.

b) Generally, on 2 st September,

the Sunsve icatty overhead
at the tropic 6f Capricorn.
) While the Tatitudes are equally

~— spaced. distance between
longitudes vary.
d) Seasonal extremes in two

hemispheres are impacted by
earth's axia| precession.

62. Which of the following

ins th
stdtements best exp::g]neyf)
term “high-powered h -
a) A currency with hig
purchasing power-
b) A currency which IS ?Ccegttahme
to most of the countries of the

cy which is issued by
| bank of the country.
eld by the
Central bank of the country.

63.Gandikota, which is popularly
known as the Grand Canyon of

India, is situated on which
River?

a) Tungab a.
}b) Penn
LrManiji
. d) Bharathapuzha

B4-Consider the followings
statements:

m located, between

Karakoram and Ladakh r nges
of Himalayas.

2. Shyok river passes

-3~ This valley hous
" humped camels
camels.




ich of the following
‘statements is correct in respect
of the Vibrant Villages
programme(VVP)

5,_3)4“/5 being implemented in all
the villages having
international borgers.
b) it will be fully fdnded by the
Gov ept’of India

C) 1t wil{h; in reversing the
outmigration _from border
villages '

d) 1t also aims to develop a
model village that sources all
its electricity needs solely
from renewable energy.

68. With reference to missile

ology. how are ballistic

Missiles different from cruise

13giles?

ise missiles are jet

propelled throughout their
flights, while ballistic missiles
are rocket powered only in
the initial phase of flight.

b) Cruise missiles have lower
target accuracy compared to
ballistic missiles.

c) Cruise missiles generally

have a higher payload

capacity than that of ballistic
missiles.

Ballistic missiles are difficult

to detect compared to cruise

missiles.

ase in a country.

nflation in a country.

68. Which of the following groups of
industries represents the Eight
core Industries of India?

a) Refinery products, fertilisers,
pharmaceuticals and crude
oil.

b) Cement, steel, fertilisers and

natural gas.
c) Automobies, crude oil,
electriomwboal.
Whery produtts, steel, coal

and textiles.

_69-Which of the following
- statements 1s not correct
regarding the recently launched
‘National Action for Mechanised
Sanitation
Ecosystem(NAMASTE)

Scheme?
a) It was launched by Ministry

Of Social Justice and
Empowerment.

b) The scheme is fully funded
by the Union Government.

//c?- The scheme has been
extended to all the rural local
bodies in the country.

d) The scheme provides loan

assistance to sanitation
workers.

70. Which of the following best
—Teflects the term ‘Shrinkflation’.
seen in the news? ‘

a) Drastic increase in the price
of a product due to its
unavailability. _

b) Drastic decrease in the price
of a product due to its easy

availability. _
/c}/Reducing the quantity of a
product without altering its

price.
d) Increase in

product due t
price of its su

the price of a
o a rise in the
bstitute goods.
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71.The terms 'Schwarzschild

radius’ and '‘Ergosphere’ are
related to which of the
following?

a) Lagrange points in space

b) Distance between

galaxies.
c) Biack holes
d) International space station

72.The Barak Riveris a famous
river of:

a) The Western Ghat
_b) Eastern Ghat
L) Satpura hills

d) Maﬁipr“f_l_iils

73.What do plant and animal

kingdom make tog ther?
a) Biosphere Oz
b) Hydrosphere

¢) Atmosphere
_d) All of these

74 The Rowlatt Act was passed in :

a) 1905
b) 1913

_c) 1919~

d) 1925 °

75.Which of the following is
correctly matched?
a) Measles ~ Bacteria
by Influenza — Virus
) Tuberculosis ~ Protozog
d) Whooping cough — Fungj

~76.Find the synonym of :
DISTINCTION
a) Diﬁm
b) Dis emen
c) Different
egree

oW
77.In each question bealnt" M
sentence is bfokene artyy,
six parts. .Joir1"f"“'35 ser‘tence
make a meaningfu f pats
The correct order ©
answer.

immediate!y
Salary

My

Want

N B O3 R e

a) 43152
b) 15432
c) 25143
d) 42351

/fa/.;\lhen he

-10-

P: did not know

Q: he was nervous ang

R: Heard the hu€ andcry at
midnight

S: what to do

/é‘j‘R/gES
b) QSPR
c) SQPR
d) PQRS

In the questions below the
sentences have been given in
Active/Passive voice. From the
given alternatives, choose the one
Which best expresses the given
sentence in Passive/Active voice.

79.1 rememper my sister taking me

. to the myseum.
a) | rememper | was taken to the

Museym by My sister.
B) 1 remember being taken to the

by my sister.
c) m::e:;:be)r{ myself being taken
_/t; the museum by my sister.
d) | remember taken to the
Museum by my sister.

T L Y A



hild could not have done this
80) .“!“«“it‘-"‘
M s mischiof could not ba
a) ana by @ child,
) ‘1\n+1‘ mischiof could not been
e by child,
“Is mischiettould Not have
) Len done by a child,
wa mischief a child could not

Q)
- gg\,@bcmn done.

Some rowbs/idioms are given

below gg qter With thelr meanings.

Choogg yycorrect meaning of
Provertyjgim

81 , TO end msmoke
a) To me completely

undentand

.-2)~To runoneself
c) To exde great applause

d) To ovecome someone

82.To pick holes
a) ' To find some reason to

b) /ZPoXestroy something
c) To citicise someone
_d)—To cut'some part of an item

In the questions below the
sentences have been given in
Direct/Indirect speech. From the
given alternatives, choose the one

which best expresses the given

sentence in Indirect/Direct speech.

83-He said to his father, "Please

increase my pocket-money."

“.._a) He told his father, "Please
iricrease the pocket-money"

b) He pleaded his father 1o
please increase my pocket
money. '
/e)/ge requested his father to

increase his pocket-money.

d) He asked his father to
increase his pocket-money.

B4, "Plonse don't go away", she
anid,
n) Sho sl please her and not
O mway,
b) Sha'told me to go nway
¢) She baggod ine not 1o go

nway,
() She hagged that | not o

awny,
Which of phrasaos given below anch
sontonce should roplace the phragse
printed in bold typo 1o make the
grammatically cornroct?

85.4'ho small child does whatever his
fathor was done.,

a) has done
h) did

¢) does

d) had done

_B86.The man to who | sold my house
was a cheat.

a) to whom | sell
b) to who | sell
c) who was sold to

_‘/d.)ﬂto whom | sold

87. Select the word which means the
same as the group of words given.

Study of Human Development:

Mne who cuts precious stones.
a) Philatelist
b) Driver

_c)-tapidarist
d) Oculist

-11 -




89.Select the Most appropriate
Meaning of the idiom_

A bed of roses:
.3)"To put something bh hold
b) A'really good Invention

¢) An easy and happy existence
d) To improvise

90.He has no money now. .. . .
a) Although he was very

b) As he has given up alfhi
wealth

¢) Because he wadvé rich once

d) because he has received huge
dq_n_ation. ‘

S

81.Early to bed and early to rise

A man healthy, wealthy
and wise.

_-4a) Make
b) Makes
c) Shall make
d) Made

..........

...........

X

| were the richest person
of the world!

a) If

b) When

c) Unless
~d) Not any

..............

ey

94. Select the pair which has the same
relationship.

GRAVITY: PULL
a) lron: Metal
b} North Pole: Directions

SY Magnetism: Attraction
d) Dust: Desert

95 Eating fruits and vegetables is-
~ good ... = health.
b i
b) From
c) In
d) At

RIS R T .

elling of
96.Find out that word. SP

which 1s wrong.
a) Beetle

b) Beautician
c) Bearable

d) Beautifull

It
97. Find the correctly speTWord.
a) Quintessance
b) Quintessen%
¢) Quintesanc

d) Quintassence

_-98-He had managed t9 -=--.....
"~ several times, but Was finally
by the police.
a) Deceive, cheated
b) Defend, acquitted
_—¢J Escape, arrested
d) Cheat, robbed

o~

/99. Find the synonym of Reckon:

100, The magician created an
Of the girl floating in air.

............

d) Omission

-12.



